DACOUSTICS

Micro-C / Micro | User Manua



Technical Specifications:
Frequency range
Sensitivity (2.83V/ 1m)
Nominal impedance
Max SPL

Recommended amplifier
Cross-over frequency
Speaker type

Enclosure type

Port tuning frequency

Drive Units:
High frequency driver
Low frequency drivers

Cabinet:

Dimensions (H x W x D)

Net Weight (pair):

Cabinet only
Full assembly

Special Features:

Micro-C / Micro | User Manual

Micro-C

68 - 28000 Hz+/-3 dB
84.5 dB

40

100 dB

25-100 W

4000 Hz

2-way Bookshelf

Bass reflex

49 Hz

SB19ST-C000-4
4in SB12CACS25-4

15mm MDF
262 x132x 170 mm
10.3x5.2x6.7 inch

43kg/9.48 b
7.8kg/17.2 b

- High performance compact design.

- Optimized drivers.

- Simple high quality cross-over network.

- Front firing integrated port.

- Versatile placement.

- Solid single wiring binding posts.

70-28000 Hz +/-3 dB
84.5 dB

40

100 dB

25-100 W

4000 Hz

2-way Bookshelf
Bass reflex

49 Hz

SB19ST-C000-4
4" SB12PAC25-4

15mm MDF
260x130x 170 mm
10.2 x5.1 x6.7 inch

4.2kg/9.26 Ib
7.4kg/16.32 Ib



Micro-C / Micro | User Manual

Frequency Response (Micro-C)

100 80

nang

95 73

9 N 67
o F N ‘\\gg]ﬁi& [IRSAR A CRMAWA

LA A 7% WA 60
80 / W 53

)
)

75 /&f 47
70 40

2 e e
65 33 3
60 h\ 27

; \ — - '

40 i - - - - 0

20 50 100 200 500 1k 2k 5k 10k 20kHz

Frequency Response (Micro)
100 =7 40.0
]
=
95" 367
%0 ﬁV\ m /[ 333
85 A Ao % 30.0
/\ W Y AR A §<rv\/\/
80 \\7 W 267
75 233
e
w0 200 =)
h=]
3
65 /\ 16.7
60 133
\ ~
55 10.0
50 \ 6.7
N —
[

45 S 33
40 00

20 50 100 200 500 1k 2k 3 10k 20kHz

Response Curve :
—~— (Blue) : on axis -—- ( Green ) : 15° off-axis -—- (Red ) : 30° off-axis

Measured on-axis, 15° and 30° off-axis at 1 m in an ordinary room. Lower frequency dips and peaks are caused by room modes/reflections.




JMIIAHOVE.

©
>
c
©
=
=
[J]
v
>
o
o
Y
=
~
Y
o
o
Y
=

Us

GLA0LD-T
|Mw ©

0€

"Gl

NG

IIIII//

¥6
0k

e
0El

(414

0LL

788

v
Y

85

Gl

D-0I / (Ww Ul suoisuswip) buimeiq |edtueydsy



092

<
=
T T ]
i S T
e — il
i W I
| |
o I
7 | | =11
N e
of T L1 o
| |
Foy F
! |l [
y _ [ W |
\ﬁe L [
/S | Gl L
\\\\\\ N o] I i B \L.\‘
o e
g St = Ir
| R -
L ,
_ ot 0Ll
©
>
C
©
=
@
wv
=)
e
g
=
~
Y
e
g
=

oI / (Ww Ul suoisuswip) Buimelq [ed1ueydsiy




L

ISOMETRIC VIEW (MICRO-C)

Micro-C / Micro | User Manual

e

EXPLODED VIEW

NO. PART LIST QTyY.
1 | SB19ST-C000-4 (Sold separately) 1
2 |4in SB12PAC25-4 Or 4in SB12CACS25-4 1

(Sold separately)
3 |Binding Post (-) (Black) 1
4 | Binding Post (+) (Red) 1
5 | Wood Screw 3%2x20mm 4
6 | Wood Screw 4x20mm 4
7 | Name Plate 1
8 | Cross Over (Sold separately) 1
9 | Damping Material (See cut pattern) 1




Gl 7 ovl

001

0S1

0S

08¢

GGE

©
5
c
<
=
—
9]
wv
)
o
o
Y
=
~
Y
o
o
Y
=

(wuw ul suoisusawip) uidljed bunn) jeudey buidweq




7 Micro-C / Micro | User Manual

Damping Material Position (dimensions in mm)

DAMPING MATERIAL A
DAMPING TYPE 90z

SIZE : 100x40
QTY :1PCS
USED FOR TOP CABINET

DAMPING MATERIAL B
DAMPING TYPE S0z

SIZE : 50x280

QTY : 1 PCS

USED FOR MIDDLE CABINET

DAMPING MATERIAL C
DAMPING TYPE 90z

SIZE : 100x215

QTY:1PCS

USED FOR BOTTOM CABINET/
REAR OF THE CABINET

72/




©
>
c
]
=
—
9]
v
)
o)
o
Y
=
<
Y
o
o
Y
=

P-¢CSOVITIAS &
10 $-CTOVdCLES ¥

>oov\m:w.©_%_
(190

dM

#-000D-LS614dS

- el
wwg [/ HW89 0
+ Py e r.\f\r.\f\mw_
ww, o/HUT0(C  (OVI) A00/INE Y
Aw,«ow%os%m.wi Ovd) Wwov\ At yoerg -
OVd) A00Y/An0T MOT/WYOLT z
T MO[[PA = = @ = = \/\/ﬁ\mm pog + !
(48] NI

ML

21jeWYDS IIA0SSOI)




9 Micro-C / Micro | User Manual

Part List (each cabinet):

- High frequency driver SB19ST-C000-4 (sold separately)

- Low frequency drivers 4" SB12PAC25-4 or 4" SB12CACS25-4 (sold separately)
- Micro crossover kit (sold separately)

- Wood Screw 3.5 x 20 mm for tweeter

- Wood Screw 4 x 20 mm for woofer

- Wood Screw 4 x 16 mm for crossover (from crossover kit)

- Binding post terminal

- Damping

- Name plate

Tools Needed:

- No. 2 Philips screwdriver (for drivers and crossover screw).
- 11 mm hex socket (for tightening binding post nut).

- Multipurpose glue.

(for attaching the damping and sealing the terminal hole).

1 pc

1 pc
1 pc
4 pcs
4 pcs
4 pcs
1 pair
1 pc
1 pc



Micro-C / Micro | User Manual 10

Assembly Instructions:

1. Take out the cabinet from
the packaging and take out
the raw damping material
from the cabinet.

2. Unscrew the binding post nut
then attach both binding post
terminals on the rear of the
cabinet.

3. Fastern each terminal from
the inside of the cabinet using
the terminal nuts.




11 Micro-C / Micro | User Manual

4. Tighten the nut using 11 mm
hex socket head. Put some glue
around the nut to seal the cabinet.

5. Place the crossover on the rear
panel inside the cabinet.

6. Secure the crossover to the cabinet
with the four screws. One screw in
each corner.




Micro-C / Micro | User Manual 12

7. Connect both crossover
input cables to the binding
post terminals.

8. Cut the raw damping
material according to
the cutting diagram.

9. Place each part of the
damping material the cabinet
according to damping position
diagram. Add a bit of glue if
needed to hold the damping
material in place.




10. Attach the tweeter cables from

"

12.

13.

13 Micro-C / Micro | User Manual

the crossover to the tweeter
terminals, then place the tweeter
into the tweeter cutout on the
cabinet, align the screw holes to
the cabinet screw holes.

. Attach the woofer cables from F
the crossover to the woofer terminals,
then place the woofer into the woofer
cutout on the cabinet, align the
chassis screw holes to the cabinet
screw holes.

Fasten the tweeter and woofer
screws to the cabinet.

Repeat the steps for the second
speaker and you have finished
the assembly process.

Happy listening!.




Find Us On

O f

www.sbacoustics.com Rev.0: (07.06.21)



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15

